Chapter 7

  1.  Which of the following does NOT apply to a biome?
   A.  next level of ecological organization above ecosystem
   B.  boundaries are determined by climate barriers
   C.  a region with similar climate, soil, plants and animals
   D.  usually confined to a relatively small geographical area
   E.  encompasses interacting ecosystems
  2.  Which of the following organizational hierarchies is correct?

   A.  ecosystem ( population ( community ( biome 

   B.  biome ( community ( population ( ecosystem

   C.  community ( population  ( ecosystem ( biome

   D.  population ( community ( ecosystem ( biome

   E.  None of the above are correct

  3.  Which of the following does NOT apply to the tundra biome?
   A.  average precipitation of 75 to 125 cm (30 to 50 in) per year
   B.  permafrost
   C.  nutrient-poor soils
   D.  little organic matter
   E.  long, harsh winters and short cool summers
4.  Which of the following is NOT a biome?
   A.  boreal forest
   B.  desert
   C.  mangrove forest
   D.  savanna
   E.  tundra
5.  The boreal forest:

   A.  is also known as the taiga.

   B.  covers approximately 21% of the Earth’s land area.

   C.  has a layer of permafrost.

   D.  cannot support amphibians or reptiles.

   E.  is highly suited for conversion to agriculture.

6.  Smaller nonparasitic plants that grow attached to larger plants are referred to as:
   A.  phytoplankton.
   B.  epiphytes.
   C.  geophytes.
   D.  lianas.
   E.  kelp.
7.  The biome with high amounts of precipitation, large narrow-leaved evergreen trees, and epiphytes of mosses, lichens, and ferns is the:
   A.  tropical rain forest.
   B.  temperate deciduous forest.
   C.  Amazon rain forest.
   D.  boreal forest.
   E.  temperate rain forest.
8.  Which of the following biomes is NOT known for its wood and lumber production? 

   A.  temperate rain forest

   B.  taiga

   C.  chaparral

   D.  temperate deciduous forest

   E.  B and C

9.  Hot summers and cold winters, topsoil rich in organic material, annual precipitation of 75 to 125 cm (30-50 in), and many hardwood trees are characteristics of the:
   A.  temperate deciduous forest.
   B.  temperate grassland.
   C.  temperate rain forest.
   D.  boreal forest.
   E.  chaparral.
10.  The biome most suitable for the development of farmland is:
   A.  taiga.
   B.  tropical rain forest
   C.  temperate grassland.
   D.  chaparral.
   E.  tundra.
11.  The biome with considerable organic material in the soil, annual precipitation of 10-30 inches, and periodic wildfires to maintain the dominant vegetation is the: 
   A.  temperate deciduous forest.
   B.  chaparral.
   C.  temperate grassland.
   D.  boreal forest.
   E.  temperate rain forest.
12.  The biomes known for having herds of grazing animals are:
   A.  temperate grassland and temperate deciduous forest.
   B.  temperate grassland and savanna.
   C.  temperate deciduous forest and boreal forest.
   D.  boreal forest and temperate grassland.
   E.  savanna and tropical rain forest.
13.   Soil in deserts : 

   A.  is arid.

   B.  is high in organic material.

   C.  is low in minerals, particularly sodium chloride and calcium carbonate.

   D.  supports extensive vegetation.

   E.  All of the above

14.  Which of the following is not a major component of desert fauna?  

   A.  insects

   B.  reptiles

   C.  amphibians

   D.  owls

   E.  rodents

15.   Which of the following biomes has the highest biodiversity?
   A.  temperate deciduous forest

   B.  savanna

   C.  taiga

   D.  tropical rain forest

   E.  tropical desert

16.  Tropical rain forests:

   A.  are typically composed of at least five distinct layers, or stories, of vegetation.

   B.  are found in areas with high accumulations of organic material in the soil.

   C.  occur in areas with ancient, mineral-poor soil.

   D.  are known for being only moderately productive.

   E.  are known for having moderate levels of biodiversity.

17.  Which of the following is NOT important in determining the distribution of organisms in aquatic biomes?
   A.  light penetration
   B.  mineral nutrient concentrations
   C.  precipitation amounts
   D.  salinity
   E.  temperature
18.  Aquatic organisms that are feeble swimmers are known as:  

   A.  benthos.

   B.  nekton.

   C.  pelagic inhabitants.

   D.  zooxanthellae.

   E.  plankton.

19.  Flowing-water ecosystems receive most of their energy from:
   A.  light.
   B.  water.
   C.  wind.
   D.  organic detritus.
   E.  minerals.

20.  The shallow-water area along the shore of a lake or pond is called the:
   A.  limnetic zone.
   B.  littoral zone.
   C.  profundal zone
   D.  benthic zone.
   E.  intertidal zone.
21.  In a standing-water ecosystem like a lake, the open-water area away from the shore extending down as far as sunlight penetrates is known as the:
   A.  limnetic zone.
   B.  littoral zone.
   C.  profundal zone.
   D.  benthic zone.
   E.  intertidal zone.
22.  The deepest zone in a large lake, below where the sunlight penetrates, is the: 
   A.  limnetic zone.
   B.  littoral zone.
   C.  profundal zone.
   D.  benthic zone.
   E.  intertidal zone.
23.  Which of the following does NOT apply to the deepest zone of a large lake?
   A.  no light penetration
   B.  few organisms live here
   C.  minerals are effectively recycled 
   D.  without oxygen (anaerobic)
   E.  a mineral-rich zone
24.  In temperate lakes, falling temperatures in autumn may cause a mixing of the lake waters called:
   A.  thermocline.
   B.  fall turnover.
   C.  thermal turnover.
   D.  thermal stratification.
   E.  blooms.

25.  Which of the following does NOT apply to a freshwater wetland?
   A.  anaerobic conditions
   B.  accumulated organic material
   C.  water-tolerant vegetation
   D.  increased potential for flooding
   E.  helps to purify groundwater

26.  A coastal body of water partly surrounded by land and accessible to the sea and fresh water is called a/an:
   A.  salt marsh.
   B.  estuary.
   C.  swamp.
   D.  bog.
   E.  reef.  
27.  For coral reefs to form in tropical waters it is necessary for what particular organism to live with the coral animals?
   A.  sea urchins
   B.  kelps
   C.  coral bacteria
   D.  giant clams
   E.  zooxanthellae
